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L1S3

- kComposition of Three Functions |

A) If fix) = x* - 3, g(x) =2x* + 6 and A(x) = -x, find the following.
1) g(fth(x)) 2) flh(g(x)))

B) If flx)=5x-1, g(x)=6x and A(x) =3 -x, find the following.
) (fogoh) N P

PREVIEW

Gain complete access to the largest
Q) Iffix)=x+8, g(x)=Qcollection of worksheets in all subjects!

) (gohof)x)

i) 4x+3 i) 2x*+4x-10 i) 3x - 7x?

iv) 4x -3

2) If flx) = 3x + 8 and g(x) = -6, h(x) = -2x°, which of the following represents

(fohogx)?

) 2x?-85 i) —208 i) 3x+92

-

iv) 208
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